
EE 201 —  HW 6.1       Name__________________________________________

 
For the circuit shown, the voltage 
source jumps abruptly from 0 to 10 V 
at t = 0.  Find the expression of iR3(t) 
for t > 0.  Find the time at which the 
current has gone half-way from its 
initial value to its final value. 
 
 
 

Hints: When VS = 0, it behaves like a 
short-circuit.  Also, note how iR3 
relates to vC. 
 
 
 
iR3(t) = _________________________________________________ 
 
 
 
t (half-way) = ____________________________________________

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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